Father's Day Math Challenge (A)

See who gets the most correct, Dad or Son.

Son
9 10 11
-5 -9 -2
2 5 8
+2 +8  x6
56 6 7
+7 +8  +9
6 6
4 11 x1
1 6
+6 + 1 +9
6 6 24
+3  x8 =6
24 1 9
=8 +6 +5
2 6 6
+8 x7 =1
Score: /32 Score: /32

Math-Drills.Com




Father's Day Math Challenge (A) Answers

See who gets the most correct, Dad or Son.

Son
3 7 15 9 10 11
x5 -2 =3 -5 -9 -2
15 5 5 4 1 9
35 2 4 2 5 8
=7 ozl x4 2 +8  x6
5 2 16 1 13 48
3 1 6 56 6 7
-1 16 +3 ~7  +8 49
2 7 9 8 14 16
9 3 9 6 9 6
+6 +8 =3 -4 +1  x1
15 11 3 2 10 6
9 13 1 1 1 6
x3 -8 x5 +6 +1  +9
27 5 5 7 2 15
42 2 8 6 6 24
+7 45 x5 +3 x8 =6
6 7 40 9 48 4
11 7 18 24 1 9
-4 +7 6 +8 +6  +5
7 14 3 3 7 14
14 9 6 2 6 6
-7 +2  +2 +8 x7 =1
7 11 8 10 42 6
Score: /32 Score: /32
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Father's Day Math Challenge (B)
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See who gets the most correct, Dad or Son.

Son
8 3 9
X9 T3 X2 X6 -3
18 11 11 16 3
-9 -9 -9 -7  +3
4 6 9 9 3
+8 =1 +5 -8 x2
40 12 24 8 14
~8 -7 ~8 -7 -9
8 3 11 1 4
+3 x6 -9  +3  x8
1 11 28 81 4
+2 -4 4 =9  x6
5 10 2 3 2
x6 =5 +4 x8 x5
6 7 6 11 7
x6 x5 x9 -2 -2

Score: /32 Score: /32
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Father's Day Math Challenge (B) Answers

See who gets the most correct, Dad or Son.

3 8 4 8 3 9
+3  x9  +3 x2 x6 -3
6 72 7 16 18 6
18 11 11 16 3

x7 -9 -9 -9 -7  +3
28 9 2 2 9 6
7 6 9 9 3
x8 +8 =1 =6 +5 -8 x2
56 12 6 1 14 1 6
1 40 12 2 7 24 8 14
x8 =8 -7 x8 x2 =8 -1 -9
8 5 5 16 14 3 1 5

8 4 63 11 1 4

x8 43  x6 =2 +7 -9 +3  x8
16 11 18 4 32
4 1 11 81 4
+5  +2 -4 +9  x6
9 3 7 9O 24
45 5 10 3 2
+5 x6 =5 x8 x5
9O 30 2 24 10
2 6 7 11 7
x9 x6 XS -2 -2
18 36 35 9 5

Score: /32 Score: /32

Math-Drills.Com




Father's Day Math Challenge (C)
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See who gets the most correct, Dad or Son.

Son

4 8 8 6

+_5 +6 -4 =2 +6
4 2 2 56 21

+2 %9 x2 =8 =7
16 8 4 11 3
-7 x3 +9 -9 x2
8 3() 56 3() 8 40 2

x] =6 =8 +5 =8 =5 x5
6 2 40 1 35

x2 X2 =5 x8 £5 =5
15 12 5 9 8 12
+3 -4 +4  x9 -7 -6
5 4 4 18 1 4

+8  +1 4 -9 x5 +6
2 10 2 15 8 2

+9 -8 xl =5 49 x1

Score: /32 Score: /32
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Father's Day Math Challenge (C) Answers

See who gets the most correct, Dad or Son.
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40 4 6 1 8 8 6
+5 46 =1 +3 -4 =2 +6
8 10 6 4 4 4 12
4 2 16 4 2 56 21
+2  x9 -9 +4 x2 8 =7
6 18 7 I 4 7 3
16 8 6 3 4 11 3
-7 X3  +6 x4 +9 -9 x2
9 24 13 2 6
8 30 40 2
x1 =6 =5 x5
8 5 8 10
6 2 3 35
x2  x2 +5 =5
12 4 8 7
15 12 8 12
+3 -4 -7 -6
5 8 1 6
5 4 1 4
+_8 +_1 X 5 + 6
13 5 5 10
210 8 2
+9 -8 +9  x1
11 2 17 2
Score: /32 Score: /32
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Father's Day Math Challenge (D)

See who gets the most correct, Dad or Son.

Son

1 11 10 48
+2 -6 -9 =8
6 27 8 13
x2 =9 -2 -6
7 16 27 2
x8 -9 =9 x7
5 7 6 4 3 72 7 1
x8 +9 -2 +5 xl =8 49 43
6 9 25 10 3 6 16 2
6 x6 =5 -1 x3 x8 =4  x3

2 13 2 9 24
x4 -6 =1 6 =6 =1
4 2 63 2 3 5
+7  +2 =9 +8 +4 =5
7 24 15 56 36 5
-2 =4 =5 7 =9  +6

Score: /32 Score: /32
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Father's Day Math Challenge (D) Answers

See who gets the most correct, Dad or Son.

3 28 11 10 48
-1 =4 -2 +2 -6 -9 =8
2 7 6 3 5 1 6
8 1 9 6 27 8 13
-7 +6 -3 x2 =9 -2 -6
1 7 6 12 3 6 7
5 15 8 716 27 2
+4 -8 +2 -8 x8 -9 =9  x7
9 7 10 3 56 7 3 14
5 7 6 4 37 7 1
x8 49 -2 45 xl =8 +9  +3
40 16 4 9 3 9 16 4
6 9 25 10 3 6 16 2
+6 x6 =5 -1 x3 x8 =4  x3
1 54 5 9 9 48 4 6
2 13 2 1 % 16 9O 24 3
x4 -6 =1 9 > +8 +6 6 =1
8 7 2 15 4 3
4 2 63 8 2 3 5
+7 42 =9 -3 +8 +4 =5
11 4 7 5 10 7 I
7 24 15 O 56 36 5
-2 x4 =5 +3 =7 =9  +6
5 6 3 3 8 4 11
Score: /32 Score: /32
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Father's Day Math Challenge (E)
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See who gets the most correct, Dad or Son.

Son

1 4 3 5
x4 +6 +7 -4
56 4 9 21 11 9
+8 +1 -3 =3 -1 -6
12 24 27 8 4
6 =3 4 =9 -3  +8
2 5 4 7 4 5 9
x1 x2  x9 +7 +£3 x8  x6
3 16 4 13 12
+4 -9 +7 -5 -7
9 8 4 10 48
-8 -4 +8 -1 =8
5 3 2 13 2
x5 x5 +7 -5 x3
8 7 8 1 9
+9 -5 x8 +4  +3

Score: /32 Score: /32
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Father's Day Math Challenge (E) Answers

See who gets the most correct, Dad or Son.

1 11 9 4 3 5
+2 -3 x4 x4 +6 +7 -4
3 8 36 4 10 10 1
54 56 4 9 21 11 9
+9 =8 +1 -3 =3 -1 -6
6 7 5 6 7 4 3
12 12 3 24 27 8 4
-8 =6 =3 +4 =9 -3 +8
4 2 1 6 3 5 12

7 2 5 7 4 5 9
+6 x1  x2 +7 +3  x8 %6
13 2 10 14 7 40 54
8 3 16 5 4 13 12
+5  +4 -9 x9 +7 -5 -7
13 7 7 45 11 8 5
7 9 8 10 4 10 48
+1 -8 -4 -5 +8 -1 =8
7 1 4 5 12 9 6
35 5 3 6 2 13 2
+7 x5 x5 x7 +71 -5 x3
5 25 15 42 9 8 6

9 8 7 12 8 1 9
x6  +9 =S -5 x8 +4  £3
54 17 2 7 64 5 12

Score: /32 Score: /32
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Father's Day Math Challenge (F)

See who gets the most correct, Dad or Son.

o

Son
10 7 4 10
-7 x4  x7 +9  +9 x9 -3
9 63 9 14 5 54 4
-1 =7 x5 ~7 -1 6 x4
1 16 11 1 27 18 9
+2 =8 -6 x7 =9 =2 @ -7
7 16 15 2 8 6 14 7
+6 =8 -8 x7 x9 +3 -7 -5
16 1 6 4 5 3 6
+8 x5 +1 x1 x5 x9 =3
16 3 2 3() 4 7
-8 £35 -1 =5 +8  +1 x9
3 8 18 32 5 8 1
+1  x3 =9 =4 +5 x5  x3
6 3 3 3 1 9 5
+7  x9 +9  +8 x8 -8  x2
Score: /32 Score: /32
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Father's Day Math Challenge (F) Answers

See who gets the most correct, Dad or Son.

10 6 7 4 10
-7 x4 +9 +9 x9 -3
3 24 15 16 36 7
9 63 14 5 54 4
-1 =7 =7 -1 ~6 x 4
8 9 2 4 9 16
1 16 1 27 18 9
+2 =8 x7 =9 =2 -7
3 2 7 3 9 2
7 16 8 6 14 7
+6 =8 x9 +3 -7 -5
13 2 72 9 7 2
16 1 56 5 3 6
=8 xS =8 x5 X O +~3
2 5 725 27 2
16 3 5 4 2 7
-8 +5 -4  +8 +1  x9
8 8 1 12 3 63
3 8 6 5 8 1
+1  x3 xl +5 x5 x3
4 24 6 10 40 3
6 3 16 1 9 5
+7 %9 -9 x8 -8 x2
13 7 7 8 1 10
Score: /32 Score: /32
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Father's Day Math Challenge (G)

See who gets the most correct, Dad or Son.

Son

1 1 4 5
-9 x6 =1 -3
7 7 5 10
+8 +4 x1 -2
7 54 1 5
+5 =9 +8  +8
45 3 6 32 1 7 63 3
+9  +5  +2 =4 +9 +8 =9  x6
7 8 10 9 9 12 3 4
x7 +71 -4 x7 +5 -8 x6 +6
9 10 16 5 8 10 3 20
x7 -9 =2 -3 +5 -3  +4 =4
17 3 4 8 2 6 7 21
-8 +1 +7 47 +1 x5 x9 =3
2 3 3 3 4 6 9 7
+5 x1 +9  +5 x1 x2 x8 -1

Score: /32 Score: /32
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Father's Day Math Challenge (G) Answers

See who gets the most correct, Dad or Son.

Son
1 1 4 5
-9 x6 =1 -3
4 6 4 2
7 7 5 10
+8 +4 x1 -2
15 11 5 8
7 54 1 5
+5 =9 + 8 + 8
12 6 9 13
1 7 63 3
+9  +8 =9  x6
10 15 7 18
9 12 3 4
+5 -8 X 6 +6
14 4 18 10
8 10 320
+5 -3  +4 =4
13 7 7 5
2 6 7 21
+1 x5 x9 =3
330 63 7
4 6 9 7
xl x2 x8 -1
4 2 72 6
Score: /32 Score: /32
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Father's Day Math Challenge (H)

See who gets the most correct, Dad or Son.

Son
11 48 4
x5 -2 =6 +5
9 5 1 7
+1 -1 +5 -1
15 1 56 24
-6 +7 + 8 +6
14 42 9 16
-9 =7 +5 =8
2 9 2 8
x9 +2 -1 +6
1 15 3
+8 -9 +4 =
3 8 18 3
x3 =2 -9 x5
5 4 7 6
x2 +6 -2 x4
Score: /32 Score: /32
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Father's Day Math Challenge (H) Answers

See who gets the most correct, Dad or Son.

Son
8 6 56 11 48 4
-3 =3 =8 -2 6 5
5 2 7 9 8 9
14 3 5 5 1 7
+7  x3  x7 -1 +5 -1
2 9 35 4 6 6
5 1 3 1 56 24
x4 16 +3 +7 =8 =6
20 7 6 8 7 4
8 16 8 42 9 16
x8 -9 4 +7  +5 =8
64 7 2 6 14 2
6 4 11 9 2 8
+4 =1 -6 +2 -1 46
10 4 5 11 1 14
9 9 7 15 3 2
-7 +4  +6 -9 +4 =zl
2 13 13 6 7 2
13 5 7 8 18 3
-4 +3 -6 2 -9 x5
9 8 1 4 9 15
3 7 7 4 7 6
+6 -3  +7 +6 -2 x4
9 4 14 10 5 24
Score: /32 Score: /32
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Father's Day Math Challenge ()

See who gets the most correct, Dad or Son.

Son
1 7 11 7
-5 +2 -4  +2
2 9 16 16
xl -6 -8 =8
2 7 3 6
x5 =9 x9 =6
2 1 12 2
+5 +2 -9 43
2 4 16 12
1 -1 -9 -9
6 8 7 2
x9 x3 x9 =1
30 17 2 7
+5 -8 +8 =8
8 3 40 9
x6 +5 =8 42
Score: /32 Score: /32
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Father's Day Math Challenge (I) Answers

See who gets the most correct, Dad or Son.
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\ﬁé

5 7 11 7
x6 +5 -8 -5 42 -4 +2
30 12 3 7 9 7 9

5 9 3 2 O 16 16
x4  +7  x3{ xl -6 -8 =8
20 16 9 2 3 8 2

3 11 8 2 7 3 6
x7 -1 -3 x5 =9 x9 =6
21 4 5 10 8 27 1

7 5 1 2 1 12 2
x3 x5 x2 +5 42 -9 43
21 5 2 7 3 3 5

3 7 4 2 4 16 12
+5 41 =2 +1 -1 -9 -9

8 8 2 2 3 7 3
10 5 4 6 8 7 2
-8 46 =1 x9 x3 x9 =1

211 4 54 24 63 2

4 15 5 30 17 2 7
+4 -7  x2 +5 -8 +8 =8

8 8 10 6 9 10 9

2 1 28 8 3 40 9
+4 +4 =7 x6 +5 =8  +2

6 5 4 48 8 5 11

Score: /32 Score: /32
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Father's Day Math Challenge (J)

See who gets the most correct, Dad or Son.

Son
5 8
+8 x 1 +1
8 56 7
x4 =7 x5
15 3 8
+5 +9 -5
6 3 12
x2 x3 -7
3 14 6
x6 -8 -5
9 18 10
+6 =3 =2
5 4 2
x5 — 4 + &
2 8 9
+2 x5  +8
Score: /32 Score: /32

Math-Drills.Com




Father's Day Math Challenge (J) Answers

See who gets the most correct, Dad or Son.

Son
3 5 8
=3 x5 X7 +8 x1  +1
7 40 21 13 8 3
9 9 10 8§ 56 7
-6 =1 -6 x4 =71 x5
3 9 4 32 8 35
1 4 5 15 3 8
x5 +2 -1 -1 +5 =5 +9 -5
5 6 4 9 7 3 12 3
9 1 36 8 4 6 3 12
-3 +£5 6 =2 +8 x2  x3 -7
6 6 6 4 12 12 9 5
10 8 45 9 9 3 14 6
-3 =2 =9 5 x6 -8 -5
7 4 5 18 6 1
8 40 56 9 18 10
-3 =5 =8 +6 =3 =2
5 8 7 15 6 5
2 7 8 5 4 2
x3 x6 -1 x5 =4 +8
6 42 7 25 1 10
3 1 64 2 8 9
x7 +5 =8 +2 x5  +8
21 6 8 1 40 17
Score: /32 Score: /32
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